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I 271 mwn:judging nar
a  before he’s confirmed to be Xnv, we ask 7 questions, the answer to which may mitigate the nar
i eating, drinking, carrying a load, jumping, illness, seeing or thinking (about something prurient)
i source: v.1—13anw nR arn (2 sightings) — still in the uniquely male category of v2R not counting;
afterwards napa» 7915 — compared to a woman’s N2t where 02X is equally knon
1 challenge: " maintains that we check him through 3 sightings, only afterwards is xnon onx
2 rather: R™ utilizes the "nR” to generate 3 sightings (y2w*nx*arn) and o'nan don’t recognize the "nr”
b once he’s confirmed, we no longer use these potential “outs”, as he is prmin as a ar
i result: any Y71 n1ow is judged to be N2t —even a pav
1 meaning: pav as to the material, not a pav if he saw at all
2 Challenge: for what type of contact?
(a) If: you suggest it to be yan, why would it be any worse than 1" of a 1110 that is yana xnon
(b) Rather: it must be Rvn
(c) Challenge: no onerecognizes RWn NRMVY of 1Y (YW1’ "1 says so only because he inevitably touched some)
(d) Amnswerl: nank 91 RTR 17— we don’t explain it as 1", rather as nan
(i) Suggested explanation (X998 17 >R17): due to his weakness, he wouldn’t have »p
(ii) Challenge: we categorize the »p of a 71 (who's already %1nn) as nar
(iii) Answer: his acceptance of nnx¢n also makes him weak
(e) Answer2: Ron nrkmY of 1"V is, indeed, a DRIN NPIYNN:
(i) o2pomit’s 5”"pyn RwNa RNLVN
(ii) ’or “r only ®nvn until the end of the day - afterwards, we regard it as a regular "p
(iii) core of the dispute: whether we accept YR1nW resolution of the contradiction in v. 2
II 37 mwn: judging a mortally wounded victim
a if it was diagnosed as fatal and then he got better and subsequently died — 2»n
i dissent: 'nm 7 - based on the fact that he got better, nptn > this wound is no longer responsible for his death
IIT ’n nawn: status of 'nnIN HRIDW as 1N
a R " he was a 11 as per v. 3 (Mn’s commitment) compared with v. 4 (7851’s directive to min nwy)
b oy 1 (v. 3) means “fear”
i Response: we see that he was afraid of people as per v. 5
IV Concluding passages:
a 11told &»n, his son: always try to grab the 1371 Y» v13 in order to make the n371 (rather than “only” answering jnx)
i Challenge: "ov " says that the one who answers jnX is more praiseworthy than the 77an
1 Support: (R ) “grunts” fight it out in the trenches and the “heroes” come and collect the glory
ii  Answer: it is a dispute among o>®in (and 17 took the opposing position)
1 Dictum: both the 71an and the one who answers jnR are included in being blessed, but the 71an receives his
reward quicker
b ©non »PnYn increase peace in the world as per v. 6 — P11 >7m1
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